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he product of Place-value and Face value of digit 6 in the number 7860443 is
) 3652800000 ° (2) 3600000000  (3) 3626580000

(4) 360000000

ind the smallest five digit number using three different digits.
1) 10000 (2) 20000 o (3) 000214

VO

(4) 10002

f a number is divisible by 8 and 3 bathi then by which other numbers will it always be
livisible. 2
1) 8 and all its tactors \“’ {(2) factors of 3

3)~ factors of 24 @ factors of 12

The product of two numbers with 1.GM of 112 is 4032. The HCI of the two numbers
will be

(M 1 2) 12 ?\ 3) 9 4) 36
()

i )

L g g

The cost of a dozen headphones is T 1:@5564. Samar wants to buy five headphones. Find
the amount to be paid by him to get five headphones.

(1) T 40.675 (2) T 32,735 (3% 32,375 (4) T 43,675

[\_
Trisha is arranging fruit juices for 40 ‘classmates. She wants to serve 250 ml of juice to

cach of the classmate. What is the minitium number of tetrapacks she requires for serving
if each tetrapack contains 2.5/ of juiée?

5 <
(1 25 2 3 G \(9/ 4 _ 4) 10
Compute the reciprocal of expression given: below :
7
34 a572 o~
X L=
Vi O
1 O
17 15 (@) 1 9 -
(D) 38 2 a5 < 3) 3 Moes not exist
O

Radhika bought 8% kg of fruits. She r_uie:d 2-% kg of fruits in pudding and kept the rest

for fruit salad. What is the quantity of;ﬁuit left for fruit salad ?
2 5 & 1 5
= S G- K 2 1
(1) 612 kg 2) 512 kg N (§)/ 624 kg @) 5 kg
O
AREET/6/23 L] 9 [ Contd...
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) ction site. If 4,65 |,
052 A bullock vart is carrying 230 kg of sand to 8 Um:t(rvlfl iafid that reacl::dkg Sap
TN onthe way to the site, then find the amoun 45 kg 4) 2 ey
(D 226,65 “ A\ oy ‘(3) 22549 RE 25-35k
“20.08 kp @) 234065 kg {
. o, 0 km/hr, t .
083 11 the SPeed of the car is reduced from 100 ,km/hr 0 hen the time
vover the same distance will w1 (1 e ;
(D Remain same a(:_' W!ll be 'rcg::ac;idb};) 50 Minuy,
) Double (4) will be in ' y 30 Miny,
054 A tmain covers 4 distance of 1862 km with p specd of 98 km/hr. Compy, the
by the train to cover this distance. l,» ' : (4
(0 Whours @) 23hows 319 hours (@ ) 2 oy
- 717 ’
. \ 2 ot mkto. A ¥
0SS Find the sum of 4-digit greatest number %d 6-digit smallest mifibe; Cach |
different digits. L
() 109999 (2) 109989 (8 110020 (4) 100094
R ig;
LT ARUS0, Subtract 28,576 from the sum of the least and the greatest 5-digit numby, form
A a0 the digits 3, 0, 5, 8 ang 1. B
v O (D) 67.092 (9 84.653 \(35‘ 68.932 (4) 73,695
\ N i
057 The complement of one-fourth of a straigl"l_t‘}mg'c will be - Lo I' {/ N
(A)~Acute angle  (B) Right angle " o 282,
(C) Obtuse angle (D) Half of a right angle A 418555
(1) Only (B) (2) Only (C) YA
(3) Both (A) and (B) ~ (4) Both (A) and (D)
. . I" . '
058 An angle is three times of the half of a right angle. Find its supplement,
(1) 90° (2) 1350 ~B) 1450 (4) 450
. O
059 While arranging the given fractions from therleast to the greatest, which fraction
at second last place ? O
315 7
5376 15
[‘\~
1 5 7 3
M 3 @) = ((2 s N
060 Arrange the following [ractions in asccndlflig order :
2579
36" 8 14
752 9 7122549 9 4% 4 q 9 12
g Weera®e3iu0 gpiiie 553
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he normal body temperature of a human being is 370

i | Convert it 1o degree Fahrenheit.
1y 98 (2) 97°F (3) 950

< (4)y 98.5°F

Ihe difference between — 50°C and 72°C s

o(" o(" .
1)~ 1229 (2) 42° (3) 1 329 (4)y 1 10200

axpress 18 kg Sgoas kp

.5 ke .500 kg '
1) 185 kg (2)  18.500 kg (3) 18.05 lp (4) 18,005 kg

Find the number ol zeros on 1 km when yYou convert a kilometer into millimeter

R 2) 6 3) 7
( 4y 8

Which of the following is the correct representation for number 99 2
(1) 1C (2) XCVII \(}}/ XCIX (4) L1 XXXXIX

Find the value of : MXLIT + CXCIV = LXIII

V)
; * [ - / .
() MCLXXIIL "(2) "MCCCCXXIX (3) MECLXXII  (4) “MCXLIV \Cb'(?/p

= . \(7O

}.iq;;nc the type of an angle whose measure is 29° tnore than the difference oftlj/éf’ and

_
(1) acute angle (2) obtuse angle  (3) right angle (4) " reflex angle

Which of the angles in the given figure is larger than two (2) right ancles ?

A
15
-2 ‘?’37
L 23
il %
th-Only Za (2) Both Za and £ d &
e L
(3) Only ZLc (4 ZLa. Zb and Zd only \’\ 3
- \/j.‘/
Read the given statements and choose the right option, '
Statement A : All chords of a circle arc diameiers.
Statement B : Diameter is the longest chord of the circle.
\(l Only statement A is true. (2) Only statement B is true.
(37" Both statements are true. (4) Both statements are false.
\REET/6/23 L] 7 [ Contd...
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038 Match 1ist - 1 with 1ist - 11, st - 1
bist - 1 i radius [

(A) longest chord il diameter /

(1) space between two tadil (IH,) I~

() halt of a circle (IV) ;;cmi-Ciw ¢

(DY half of diameter v 2 clow :

Choose the correct answer (rom the opt

(D) (ARAVY, ()1, ()= ()11 (2)

() (A, ()=, (O=(IV) (D)D) (D)
036 Three cubes whose cach edge s 4 cm arc joined
volume ot the new cuboid formed.
(D od emd 2) 0.064 cm?

: R : len
037 The perimeter of one face of a cuboid is 40 cm- If[it:)({d
is 13 cm and 8 ¢m, then find the volume of the cu :
(1) 846 cm? (2) 625 cm?
- ~ < i {)
038 Which of the following are four consecutive composite numbers °
(1) 22.23.24, 25 \(}) 60, 61, 62, 65

039 A pair of twin prime number between 70 and 100 is
LB 7173 (2) 79, 83 3) 97,99

040 Name the triangle shown below based on both sides and angles.

2L
I

V’)/ isosceles and acute triangle (2) scalene and right triangle
3) obtuse and right triangle (4) equilateral and obtuse triangle

‘ " h
iml.‘l glV(CA _(”l), (”)'(l). ((‘)<(Iv’(
(A)-(1): (B)-(ID), (C)-1yy), (1

(3) 192 cm? (4) 12 ¢

(3 728 cm (4) 746 ¢

('4) 87. 89

’.
)

together to form a Cubojq

gth and depth of th

(3) 56,57,58,59 (4) 90.91.¢

041 Given below are two statements : One is labelled as Assertion A and the other is |

as Reason R.
Assertion A : Right angled triangle is not a regular polygon.
Reason R : All the sides and angles of a regular polygon are equal.

In the light of the above statements, choose the correct answer from the option:

below_:

\ ( e{q.'Both A and R are true and R is the correct explanation of A.
~(2) Both A and R are true but R is NOT the correct explanation of A.
"(3) A is true but R is false.

(4) A is false but R is true.

042 Find the value of 54 =+ 0.009.
(1) 0.006 (2) 6.0 (3) 6000 «(4)_ 48.6

i/ X
EN/AREET/6/23_L | ,oo8 XD 5’7
Y

— :2/@«'&8’
pal=els

)
J



SECTION = “B* : MATHEMATICS

!
L) 7

026 The table below shows the price of some items in shop x )
J—"_]tfcm Price per kg 1 ' ;'
f“"'fq_ﬂgnr T 72n b/ dop v /7 /‘
Rice Tror e L7 //} i ,jb
Coffec | T 237 | 77 / /!
"~ Wheat T 030 57
e \ iy 1/
Wwhat is the ratio ni“n‘(m‘iixincd price of Sugar and Rice 1o that of Colftee and Wheat 7
() 9 (2 2:3 (1) 4:5§ (4 3:5
027 What least number should be added to cach term of the ratio 7 - K o get the ratio 2:3 7 .7
m 1 (2) 3 (3) 5 ) 7 Vi ¥
028 By selling a wateh for ¥ 1,275 Javed lost 15%. At what price should he scll so as 1o make 0
a pmm of 10% ? o o )’/
\(/” 2 1.500 (2) < 1.600 3) T 1,650 (4) T 1,700 ///,

)29 Seema and Ravi invested ¥ 1,50,000 in a business in the ratio of 2 : 3. At the end of the
year, they made a profit of 150% on the invested sum. [f they share the profit money in

the same ratio, then what will be Seema's share ?
I T 1.50.000  (2) ¥ 20,000 3) T 135000  (4) T 90,000

30 ﬁ%ich of the given statement is true ?
() Cl1=15)-6=21—-(15-6) 2) 14 ,>,{<&36f6\—010=84
(3) 93 x 63 — 93 x 37 = 9300 \/AV)/2+ —7><5—6=54(J
19657 0f 3= (9 1,2, 6.+ 2) S
(1) 25.+ 2 - i%ﬁﬁ (3) 27 ) 28
,, o
2 The mean for 13, 14, 19, a, 17 is 22. Find the value of a.
(1)#37 (2) 47 \9, 57 4) 67
3 Given below are the runs scored by a batsman in 4 matches. Calculate the average runs
scored by the batsman.
Match I oI | v ’bCD
Runs Scored | 35 0 6 98 ﬁﬁ%
. | 3>
(1) 139 (2) 140 (3) 46.66 y 34.75 4,
T
What percent of 4 days is 6 hours ?
1 I : 1 1
(1) 57% (2) 37% 3 6% @) 4%
5 [ Contd...
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017 Scleet the incorreet option,
(1) Mouse - Mice
N3 Sheep - Sheeps (4

(2) Child - Children
Woman - Women

OIS Tdendily (he question tag, in the following sentence
She sings very well, doesn't she ? 4 '
(1) doesn' (2)  doesn't she 7 (3)  sings (4)  well

019 Choose the option that does NOT come under gender.
(D Masculine (2) Feminine ’(3/)/ Singulﬂl‘ (4) Neuter

020 Identity the type ol sentence.
Come and do your duty.

(1) Assertive (2) Interrogative (3) Imperative (4)- Exclamatory

021 ‘“Laughter is the best medicine.’
Identify the kind of Noun for ‘laughter’

(1) Proper Noun (2) Common NOUnQ)/AbStract Noun (4) Collective N,

022 Choose the correct sentence where ‘enough’ has been used as an adverb.
M There is enough ‘ink’ in the pot.  (2) She has time enough to buy the s
(3) He was kind enough to help me.  (4) She is enough beautiful to tempt 1

023 From the following select the most appropriate option to fill in the blank :
a of ships.

(1) bundle \(2)” brood (3) fleet (4) pack

024 Select the sentence with correct order of words.
(1)~ Call each other with the mice repeating calls.
(2) The mice call each other with repeating calls.
(3) - The mice call repeating calls with each other.
(4) The mice repeating calls with each other.

025 Select the correct option to fill in the blank.
Don't disturbme. I _— my work.

(1) do (2) did \(})” am doing (4) does

SJ6

EN/AREET/6/23_L ] 4 [ Conl



Read the following passage carcfully and answer the questions given helaw (€. 012 10 (). 016)

I vou want to send a fetter by post today, youn have 1o paste a stamp
on the envelope. But Tong ago there wete no stamps. People who swanted
o send a letter would told it and atick it with was. Then the post office
vould send the tetter and the person Who got it wonld have 1o pay for
ceciving the tetter The tiese stamp was printed i England 11 was hiack
wnd had a picture of Queen Victoria on it TEcost one penny (the Dritisl)
vaise) That is Why it was called the “Penny aek”

The hobby of collecting stamps s knownas Philately. Stamps have

e brought out i many shapes and sizes. Some stamps are very valuahle

nd can sell tor a lot of money,

12 Choose the correet option to fill in the blank.

The finst stamp was printed in

(1) India \(2) Ingland (3) America (4)  Australia

13 Choose the correct statement.
(1) The first stamp had a picture of a lion.
(2) The first stamp had a picture of Queen Victoria.
{3) The first stamp had a picture of Queen Elizabeth.

(4) The first stamp had a picture of a goat.

4 Choose the correct option.

The hobby of collecting stamps is called
(1) Gardening (2) Fashion Designing

(3) Cooking \(9 Philately

v “It was black and had a picturc of Queen Victoria'.
Identify the part of speech for “black™ from the given sentence.
(2) Pronoun (3) Adjective (4) Verb

s
"N

(1) Noun

Choose the opposite of *send’.
(1), receive (2) cost (3) brought (4) sell

B
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SECTION - ‘A" 1 LANGUAGE

001 tdentity the adverb,

She read the ANSWer (wice,

x . b (4) she

(D twiee A2)7 answer (3) read
002 Choose the option that is opposite of ‘brave’. 5

(1) cowand 2} -olaver (3) courageous (4)shamefy
003 Choose the word nearest in meaning to the underlined word.

She requested him (o drop her home,

(l) “l‘dCer \(;)/ 'dSI\' p()lilcly (3) instructcd (4) fOI‘CCd
004 Choose the correct verb.

The baby was in the room. .

(1) sleep N2) - sleeping (3) will sleep (4)  will be sleq

005 Choose the correct option to complete the idiom given below.
You have hit the naj| on the '

(1) head 2> Tleg (3) arm (4)
006 Choose the correct spelling. . ‘

\(I/)/Sincerity (2)  Sencerity (3) Sincerrity 4)
007 Choose the correct pronoun.
is standing at the gate ?

(D)—Who (2) Whom (3) Which 4)

008 Fill in the blank with the appropriate article.
They are going to. Metro station.
~1)~a (2) the (3) an (4)

009 Identify the adjective from the given options.

(1) saw (2) to {3) honest (4)
010 Choose the correct preposition to complete the following sentence.

The restaurant is ________ the school.

(1) up \SZ)- behind (3) along . (4)-

011 Complete the following sentence by choosing the correct option :
They left _______ shoes on the flooras _____ was no space
(1) they're, their \{Z)/Yh/ein there  (3) there, their  (4)
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finger

Sinceerity

Whose

no article

his

between

on the.shoe ra
their, they're
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